Theme 1 – PPF Curve


Production Possibility Frontiers

The following PPF shows the quantities of agricultural and consumer goods that can be produced in an economy given existing resources and the state of technology:


	Butter
	Guns


	700
	0

	660
	100

	600
	200

	500
	300

	300
	400

	0
	500


ANSWERS Production Possibility Frontiers

The following PPS shows the quantities of agricultural and consumer goods that can be produced in an economy given existing resources and the state of technology:
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Plot this data on a PPF.�


a)  Assume the economy is producing 100 guns and 600 units of butter.  Mark this as point A on your PPF.�


b)  The economy now increases the production of guns to 200.  Mark this as point B on your PPF.  What is the (marginal) opportunity cost of each gun - measured in terms of butter?�


a)  Now assume the economy increases the production of guns from 200 to 300 guns – mark this as point C on your PPF.  �


b)  The economy increases production of guns by 100 once more.  What is the (marginal) opportunity cost of each extra gun measured in terms of butter?�


Look at the opportunity cost each time the production of guns was increase by 100. Explain why you think the opportunity cost of producing guns rises (in terms of butter sacrificed) – think about the resources required to produce these two goods.





Plot this data on a PPF.�


a)  Assume the economy is producing 100 guns and 600 units of butter.  Mark this as point A on your PPF.�


b)  The economy now increases the production of guns to 200.  Mark this as point B on your PPF.  What is the opportunity cost of each gun - measured in terms of butter?��Opportunity cost is zero, as there are spare resources – moving within the PPF.�


a)  Now assume the economy increases the production of guns from 200 to 300 guns – mark this as point C on your PPF.  �


b)  The economy increases production of guns by 100 once more.  What is the opportunity cost of each extra gun measured in terms of butter?


�2 units of butter per 1 unit of gun. 200/100�


Look at the opportunity cost each time the production of guns was increase by 100. Explain why you think the opportunity cost of producing guns rises (in terms of butter sacrificed) – think about the resources required to produce these two goods.








